
8 9

D

D1

28' - 0" +/- (VIF)

2
8
' -
 0
" 
+
/-
 (
V
IF
)

(E
)W
2
4
X
6
8

(E)W24X55

(E)W24X55

(E
)W
2
4
X
6
8

A7

SF-103

________

B-1 B-1

B-1B-1
H
-1

600S200-33mil @ 16"O.C.

6
0
0
S
2
0
0
-3
3
m
il 
@
 1
6
"O
.C
.

6
0
0
S
2
0
0
-3
3
m
il 
@
 1
6
"O
.C
.

600S200-33mil @ 16"O.C.

600S200-33mil @ 16"O.C.

SEE NOTE#2 (C1/SF-103)
(TYP.)

8 9

D

D1

(E
)W
2
4
X
6
8

(E)W24X55

(E)W24X55

(E
)W
2
4
X
6
8

2
8
' -
 0
" 
+
/-
 (
V
IF
)

28' - 0" +/- (VIF)

H-1

D8

SF-103

________

8 9

D

D1

G9

SF-103

________

H-1

8

ROOF
168' - 0"

WALL STUDS:
600S137-33mil @ 16"O.C.
PROVIDE CONT. DEFLECTION
TRACK UNDERSIDE OF (E)
ROOF - PROVIDE TSN VERTI-
TRACK VTD600-43mil OR
EQUAL w/(2) SCREWS INTO
(E) DECK @ 16"O.C. AND
(2) #8 SCREWS INTO STUD

(E) ROOF

1' - 0"

COL

8

THIRD FL.
153' - 0"

WALL STUDS:
600S137-33mil @ 16"O.C.

(E) WF BEAM

(E) SLAB-ON
DECK (VIF)

(E) PERIMETER CURB
(VIF)

COL

1' - 0"

(VIF)

7" +/-

0
' -
 8
" 
+
/-

CONT. 600T200-33mil
w/(1) SCREW EACH
STUD FLANGE

PROVIDE (2) SCREWS
@16"O.C. (TRACK-TO-
TRACK)

PROVIDE SLB600 DEFLECTION CLIP
AT EACH STUD - FASTEN
w/ (2) #8 SCREWS TO STUD AND
(2) FASTENERS TO CONCRETE DECK

FINISHES - SEE
ARCH. DWGS.
TYPICAL

BRIDGING @
5'-0"O.C. VERTICAL
SPACING, TYP.

FLOOR INFILL - SEE
ARCH. DWGS.

D1

SECOND FL.
138' - 0"

COL

(E) WF BEAM

(E) SLAB-ON
DECK (VIF)

(E) PERIMETER CURB
(VIF)

(V
IF
)

0
' -
 8
"

(VIF)

7" +/-

1' - 0"

5
 3
/4
"

T
O
P
 O
F
 J
O
IS
T

9/16" FORM DECK, 24GA.
STEEL DECKING FASTEN TO
JOISTS w/(1)#12 TEK SCREW AT 12"O.C.
TYPICAL

6" x 6" 22GA BENT PL
w/(2) SCREWS EACH LEG

CONNECT JOIST TO STUD w/
(3) SCREWS TYP.

WALL STUDS:
600S162-33mil @ 16"O.C.

FINISHES - SEE ARCH. DWGS.

FINISHES - SEE
ARCH. DWGS.

BRIDGING @ 5'-0"O.C. VERTICAL
SPACING, TYP.

JOISTS - SEE PLAN

PROVIDE AL362 CLIP w/
(3) FASTENERS TO JOIST
AND (2) TO CONCRETE
CURB

CONT. 600T200-33mil

WALL STUDS:
600S162-33mil @ 16"O.C.
PROVIDE CONT. TRACK
AT BASE - 600T200-33mil
w/(2) SCREWS PLATE @
16"O.C.

PROVIDE CONT. 8" x 24GA
PLATE UNDER WALL

CONT. 600T200-33mil FASTEN TO
FLOOR USING (2) FASTENERS @
16"O.C.

(1) SCREW EACH SIDE OF
TRACK LEG TO STUD, TYP.

FIRST FLOOR

FLOOR INFILL - SEE
ARCH DWGS

FINISHES - SEE ARCH. DWGS.

PROVIDE 600S162-33mil
FULL HGT STIFFENER -
TYPICAL EACH JOIST
CENTERED UNDER WALL
ABOVE, FASTEN w/(3)
SCREWS

JAMB: (FULL HEIGHT)
600S162-33mil
PROVIDE STIFFCLIP
AL600 AT BASE TO
TRACK - FASTEN w/
(2) SCREWS EACH LEG

HEADER -
SEE PLAN

HEADER ATTACHMENT TO JAMB
(TYP)

AL600 STIFFCLIP
TOP AND BOTTOM
w/(4) SCREWS INTO
JAMB, (3) SCREWS
INTO HEADER

NOTE: AT BEAM
SIMILAR - PROVIDE
AL362 STIFFLCIP
AT BASE ONLY

(1)SCREW @ 12"O.C.
(TYP)

CLOSURE TRACK:
600T125-33mil (TOP
AND BOTTOM)

VERTICAL ELEMENTS:
250S137-33mil

SECTION THRU HEADER (H-1)

(1)SCREW @ 12"O.C.
(TYP)

CLOSURE TRACK:
400S162-33mil (TOP
AND BOTTOM)

VERTICAL ELEMENTS:
600S162-33mil

SECTION THRU BEAM (B-1)

CONNECTOR SUBSTRATE DESCRIPTION PRODUCT

SCREWS METAL TRACK #12 x 5/8" PAN HEAD GENERIC

STUD-TO-STUD #12 x 5/8" HEX HEAD GENERIC

METAL TO
STRUCT. STEEL

#12-24 x 1 1/4" HEX HEAD,
#5 TIP

BUILDEX "TEKS"
HILTI KWIK-PRO

WOOD FRMG
or PLWD

#12-20 x 2 3/4" PHILLIPS
FLAT HEAD, #4 WINGS

BUILDEX "TEKS"
HILTI KWIK-PRO

P.A.F.'s CONCRETE or
GROUTED CMU

STRUCTURAL
STEEL

0.157"Ø x 1 1/4" HILTI X-U

0.157"Ø x 5/8" HILTI X-U

CFMF FASTENERS AND CONNECTORS:

NOTES:

1. SEE SECTIONS AND DETAILS FOR LOCATION AND NUMBER OF
CONNECTORS

MEMBER IDENTIFICATION:

NOTES:

1.

2.

3.

MEMBER TYPES AND SIZES SHOWN IN THIS DRAWING SET FOLLOW
THE STEEL STUD MANUFACTURERS ASSOCIATION (SSMA)
STANDARDS.  ANY MANUFACTURER WHOSE PRODUCT GEOMETRIES
MEET OR EXCEED SSMA STANDARDS ARE ACCEPTABLE.

PLATFORM DESIGN LIVE LOAD = 60PSF

BUILDING CODE:
A.  INTERNATIONAL BUILDING CODE - 2009 EDITION
B.  ASCE-7-05 MINIMUM DESIGN LOADS FOR BUILDINGS
     OTHER STRUCTURES

362 S 162 33-

THICKNESS (mils)

FLANGE SIZEMEMBER TYPE:
S=STUD OR JOIST

SECTIONS
T=TRACK SECTIONS

WEB SIZE

THE LAST TWO NUMBERS INDICATE THE STEEL THICKNESS

SSMA GAUGE DESIGN MINIMUM COLOR CODING

33 mils
43 mils
54 mils
68 mils
97 mils

20
18
16
14
12

0.0346"
0.0451"
0.0566"
0.0713"
0.1017"

0.0329"
0.0428"
0.0538"
0.0677"
0.0966"

WHITE
YELLOW
GREEN
ORANGE
RED

A

B

C

D

PLAN NORTH

N
O
R
T
H

T
R
U
E

G1,G4,G6/SF-103

207.221.2260

207.221.2266

www.allied-eng.com

160 Veranda Street

Portland, Maine 04103

T:

F:

Web:

Engineering
Structural  Mechanical

Allied

Electrical  Commissioning

SHEET

TITLE

ISSUE:

SCALE:

JOB NO.

DRWN:

PDT Architects
COPYRIGHT  2014

49 DARTMOUTH STREET
PORTLAND, MAINE 04101

207-775-1059
www.pdtarchs.com

Reuse or reproduction of the
contents of this document is not

permitted without written
permission of PDT Architects.

1

Allied Project No: 14085

CAD file:

CHK:

12 FEB 16

PERMIT SET

14-074

2
0
1
6
 U
N
U
M
 -
 H
O
1
 3
R
D
 F
L
O
O
R
 F
IT
 U
P
 (
N
O
R
T
H
 W
IN
G
)

 2
2
1
1
 C
O
N
G
R
E
S
S
 S
T
R
E
E
T
, 
P
O
R
T
L
A
N
D
, 
M
A
IN
E
 0
4
1
1
2

AS SHOWN

2 3 4 5 6 7 8 9 10

1 2 3 4 5 6 7 8 9 10

H

G

F

E

D

C

B

A

H

G

F

E

D

C

B

A

STRUCTURAL -
PART PLANS AND
DETAILS

SF-103

PED WPF

14085S.rvt

NOTES:

INDICATES DECK SPAN

 1/8" = 1'-0"

G1 NEW_2ND FL FRAMING

 1/8" = 1'-0"

G4 NEW_3RD FL FRAMING

 1/8" = 1'-0"

G6 NEW_ROOF FRAMING

 1 1/2" = 1'-0"

G9 DETAIL

 1 1/2" = 1'-0"

D8 DETAIL

 1" = 1'-0"

A7 DETAIL PARALELL WITH DECK SPAN

 1 1/2" = 1'-0"

D3 CFMF DETAILS

 3/4" = 1'-0"

D5 CFMF HEADER SCHEMATIC

 1/8" = 1'-0"

C1 TYP. CFMF CONNECTION SCHEDULE wMEMBER IDEN

Revision Schedule

No. Date Description

A1 KEYPLAN


	Sheets
	SF-103 - STRUCTURAL - PART PLANS AND DETAILS


